=3
i B[4 BAD BB |5 ADEBBEE-S) (6. AD(ERBE L)
| % | JEfz A| Bz A | Bz A
=i 1 326,545 1 152,455 1 174,090
EFH 14 11,742 14 5,648 14 6,094
7= 10 16,243 10 7,754 10 8,489
mEmH 2 46,664 2 22,130 2 24,534
TiE™ 6 25,732 6 12,384 6 13,348
Al 8 20,590 8 10,068 8 10,522
BET 9 19,033 9 8,914 9 10,119
TiEFEKT 12 12,388 12 5,842 13 6,546
mAE+H 3 32,694 4 15,455 3 17,239
Emh 4 32,207 3 15,545 4 16,662
= ditl 5 26,513 5 12,848 5 13,665
BFEHET 30 2,194 30 1,085 30 1,109
Z=4 F BT 27 3,034 27 1,399 27 1,635
EE52i) 28 2,498 28 1,174 28 1,324
2 A HET 29 2,370 29 1,144 29 1,226
e+ 32 1,146 32 552 32 594
EREA 33 745 33 358 33 387
= 23 3,694 23 1,724 23 1,970
AT 25 3,261 26 1516 24 1,745
KEZHT 26 3,252 25 1,546 25 1,706
T iEHT 22 3,753 22 1,780 22 1,973
yNIIES] 34 366 34 189 34 177
LT 7 21,374 7 10,179 7 11,195
=) BT 19 4,827 19 2306 20 2521
tht {EHT 16 6,002 16 2,782 16 3,220
)| BT 13 12,323 13 5,751 12 6,572
5 %0 AT 18 5,187 18 2,390 17 2,797
=R ET 24 3,307 24 1,611 26 1,696
BHEH 20 4,812 20 2,282 19 2530
p=4:3:10) 17 5,291 17 2516 18 2,775
o 5 A7 11 15,607 11 7,442 11 8,165
XHHET 21 4,434 21 2128 21 2,306
=R+t 31 1,437 31 690 31 747
S 15 10,262 15 4,944 15 5,318
= 5E 691,527 326,531 364,996
FR SH2F1081H SH2F1081H SH2F1081H
B EZRE EZRE EZRE
H Pt BEBRTE BEBRT D BEBRETRE
&

5 AO(EZHAE-5H) 0
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=3
kg |7 AR ERERAK (8. AQEREKER B) [0 AN RREKER %)
| % | JEfz A| Bz A | Bz A
=i 1 325,218 1 151,894 1 173,324
EFH 13 12,683 13 6,079 14 6,604
7= 10 16,869 10 8,068 10 8,801
mEmH 2 46,941 2 22,397 2 24,544
TiE™ 5 26,708 5 12,976 5 13,732
Al 8 21,088 8 10,327 8 10,761
BET 9 19,895 9 9,337 9 10,558
TiEFEKT 12 12,978 12 6,140 12 6,838
mAE+H 3 33,333 4 15,769 3 17,564
Emh 4 33,193 3 16,111 4 17,082
= ditl 6 25,911 6 12,250 6 13,661
BFEHET 30 2,307 30 1,114 30 1,193
Z=4 F BT 27 3,119 27 1,464 27 1,655
EE52i) 28 2,606 29 1,233 28 1,373
2 A HET 29 2,594 28 1,268 29 1,326
e+ 32 1,247 32 593 32 654
EREA 33 832 33 402 33 430
= 23 3,672 23 1,736 23 1,936
AT 24 3,425 25 1,606 25 1,819
KEZHT 25 3,418 26 1,588 24 1,830
T iEHT 22 3,784 22 1,837 22 1,947
yNIIES] 34 377 34 189 34 188
LT 7 22,235 7 10,602 7 11,633
=) BT 19 5,106 19 2,441 19 2,665
tht {EHT 16 6,473 16 3,003 16 3,470
)| BT 14 12,521 14 5,888 13 6,633
5 %0 AT 18 5,376 18 2,504 18 2,872
=R ET 26 3404 24 1,650 26 1,754
BHEH 20 4,980 20 2,356 20 2624
p=4:3:10) 17 5,620 17 2,672 17 2,948
o 5 A7 11 16,465 11 7,839 11 8,626
XHHET 21 4,805 21 2,331 21 2474
=R+t 31 1,489 31 730 31 759
2 HmT 15 10,859 15 5,228 15 5,631
= 5E 701,531 331,622 369,909
ERX SH3E1R1H SH3FE1R1H SH3EIRA1H
e 2! EBEAsbEamey  |EREXARE EREALIRE
s GE) LIS IRTEREASE

F LR

6. AO(EEHAE %) 0
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AT | 10. tHE#H 11. HHEAE 12. AOEEEE
| % | JEfz | JBGL | A (g - [ IR A
=i 1 164,127 17 1.98 34 A 2357
EFH 12 7,241 31 1.75 31 A 353
7= 11 8,197 9 2.06 25 A 264
mEmH 2 22,294 6 2.11 26 A 306
TiE™ 6 12,605 3 2.12 24 A 240
Al 7 10,710 21 1.97 33 A 414
BET 9 10,069 18 1.98 27 A 316
TiEFEKT 13 7,173 29 1.81 32 A 366
mAE+H 3 16,668 12 2.00 30 A 347
Emh 4 15,144 1 219 18 A 147
= ditl 5 13,070 16 1.98] 20 A 177
BFEHET 28 1,402 34 1.65 13 A 74
Z=4 F BT 27 1,682 27 1.85 4 A 18
EE52i) 29 1,313 15 1.98 2 A 12
% HHT 30 1,266 10 2.05 11 A 59
e+ 32 605 8 2.06 5 A 23
EREA 33 419 14 1.99 6 A 26
= 26 1,742 5 2.11 10 A 57
AT 24 1,862 28 1.84 9 A 52
KEZHT 22 2,025 33 1.69 16 A 125
T iEHT 23 1,921 20 1.97 8 A 42
yNIIES] 34 219 32 1.72 3 A 17
LNDHT 8 10,507 4 2.12 28 A 332
=) BT 17 2,901 30 1.76 15 A 118
o 1 {EHT 16 3,437 25 1.88 23 A 220
)| BT 14 6,044 7 2.07 21 A 183
5 %0 AT 18 2,755 23 1.95 19 A 163
=R ET 25 1,776 24 1.92 12 A 66
BHE# 21 2,453 11 2.03 7 A 28
p=4:3:10) 19 2,646 2 2.12 14 A 111
o 5 A7 10 8,351 19 1.97 29 A 344
XHHET 20 2,581 26 1.86 17 A 134
=R+t 31 758 22 1.96 1 A9
2 HmT 15 5,450 13 1.99 22 A 199
= 5E 351,413 2.00 A 7,699
FR SH3FE1H/1H SH3FE1H/1H SN2
B FEREXRLSIRESE FEREXRLSIRESE FEREXRLSIRESE
H Pt BHEE BHEE BHEE
&

(AMABTFAEED)

6.56

5.83

476

411

3.53

2.94

5}
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B S RE 3 o
AT | 13. AAZFE 14. HAEH 15. L=

& B ] AOQOkmEBEWIERS [ AAOFALEY ] BA [AAOFALRY)
EELi 1 1,052.5 2 6.62] 33 16
EFH 15 51.1 26 3.15 17 18.3
7= 13 53.2 17 4.49 20 16.9
mEmH 3 3746 3 6.60 34 115
TiE™ 4 291.9 1 6.83 31 14.2
Al 6 155.8 22 400 21 16.8
BET 11 69.5 19 4.11 30 14.2
TiEFEKT 17 48.7 30 2.62 14 19.0
mAE+H 14 52.7 4 6.56 28 15.3
Emh 5 2625 6 6.27 32 12.2
= ditl 18 48.2 10 5.67 24 16.4
BFEHET 23 31.2 29 2.94 2 27.7
Z=4 F BT 9 109.9 8 6.06 18 17.9
EE52i) 2 399.1 13 5.35 29 15.3
2 A HET 16 495 11 5.65 7 22.6
de)4t 32 6.3 5 6.30 15 18.9
EREA 33 5.0 9 5.83 16 18.6
= 10 92.7 12 5.36 12 19.6
AT 26 255 23 3.74 11 19.8
REH 31 10.8 31 2.54 1 31.0
T iEHT 27 17.8 15 4.70 10 20.4
yNIIES] 34 4.0 - - 3 25.4
LT 20 472 16 470 25 16.0
=) BT 29 15.3 32 2.49 4 243
- {ZHT 22 335 28 2.99 8 215
)| BT 7 124.2 18 441 23 16.5
5 %0 AT 19 48.0 25 3.25 5 23.7
=R ET 30 14.4 20 403 22 16.7
BHE# 8 111.0 7 6.19 27 15.6
p=4:3:10) 24 28.4 27 3.14 13 19.2
o 5 A7 25 25.6 14 476 9 20.8
XHHET 21 46.7 33 1.82 6 23.1
=R+t 28 17.4 21 4.01 26 16.0
S 12 57.6 24 3.53 19 17.7
= 5E 98.8 5.79 14.1
ERX Ei&m;z;ir}ﬁa% SHI2E SHI2%E
SOl A N L AN
B S T o A H I FEREXRESIRSE FEREXRLSIRESE
AT BB BT AEE T e B Y]

SH2E1EHOEEH [FI2E1FERDETH
& /SIRE1RIBREAN |/FF2E1B1BBEAN
A x 1,000 A x 1,000

15. JET=H 0

(A(ABFAHED)

2431
20.76
18.96
17.72
16.37
15.28

4pkm




=3
HETH 2 1:;% 16. £ AO0BE 17. £EEHAOEE [18. ZEAOZE
4| Bz %] Bz %] JIB{sL %

EELi 3 12.0 1 581| 34 29.9
EFH 30 6.7 31 427 4 50.5
7= 20 9.0 10 504 22 40.6
mEmH 1 12.3 2 56.3 33 315
TiE™ 6 10.8 4 52.6 30 36.6
Al 17 9.3 9 50.9 24 39.8
BET 9 104 8 51.0] 28 38.6
TiEEFKT 28 6.9 29 435 5 496
mAE+H 5 11.3 5 525 31 36.3
Emh 2 12.2 3 55.7 32 32.1
= ditl 10 10.3 11 50.2 26 39.5
BFEHET 33 5.3 32 414 3 52.4
Z=4 F BT 24 8.3 20 46.3 13 449
M P ET 14 9.5 14 485 21 417
2 A HET 23 8.4 18 46.9 17 446
e+ 25 8.1 16 47.2 18 444
EREA 11 9.9 12 49.8 23 40.1
= 7 10.8 6 51.5 29 37.7
AT 21 8.6 27 441 8 46.6
KEZHT 34 5.3 34 35.1 1 58.5
T {EHmT 12 9.7 25 448 14 4438
yNIIES] 4 11.7 30 43.0 12 451
LT 15 95 7 51.2 27 39.2
=) BT 32 6.6 33 37.6 2 54.8
o+ {EHRT 26 79 28 441 7 474
)| BT 8 10.6 13 496 25 39.8
5 %0 AT 27 7.9 22 453 9 46.5
=R ET 16 9.4 26 446 11 459
BHEH 19 9.0 15 482 20 424
FEEFET 13 9.7 23 451 15 447
/8 5+ Hy 18 9.2 19 46.5 19 442
XHHET 31 6.7 24 451 6 478
=R+t 29 6.9 21 46.2 10 46.1
2 HmT 22 8.5 17 46.9 16 446
= 5E 10.9 53.9 35.1
ER SH3EIA1H SH3EIA1H SH3FEIA1H

=g FEREXRLSIRESE FEREXRLSIRESE FEREXRLSIRESE

HiFfr BHEE BHEE BHEE

. wmAOIZHEDDI5mAR (BAQIZEDHDH15~64 [BAOIZHHH65mLL

" BAODES BAODES FAOOEIS

40km




5 . 3 ;
mmﬁg*gua%ﬁmhﬂ 20. HEEH 21. SAEAHR
| % | JEfz %] Bz A | Bz A
=i 34 248.87 1 274,783 1 1,493
EFH 4 749.82 13 11,330 9 91
7= 20 453.81 10 14,724 14 67
mEmH 33 256.93 2 39,377 6 275
TiE™ 30 337.53 5 22,684 3 348
Al 22 430.43 8 17,817 2 390
BEM 28 370.76 9 17,071 13 68
TiEFEKT 5 720.49 12 11,511 11 79
mAE+H 31 322.51 3 28,367 8 93
Emh 32 262.65 4 27,935 4 289
= ditl 26 383.55 6 22,241 5 287
BFEHET 2 983.74 30 2084 17 41
Z=4 F BT 12 538.46 27 2,726 28 11
EE52i) 21 437.90 28 2,270 29 7
2 A HET 13 530.28 29 2,266 30 5
de)4t 10 548.51 32 1,103 32 3
EREA 24 407.32 33 735 33 2
= 29 347.49 24 3,071 12 74
AT 11 543.20 25 2,964 23 22
KEZHT 1 1,111.11 23 3,106 20 33
T iEHT 18 461.58 22 3,246 20 33
yNIIES] 25 386.36 34 322 34 1
LNDHT 23 413.82 7 19,328 18 38
=) BT 3 828.40 19 4,549 18 38
- {ZHT 8 598.44 16 5,682 16 42
)| BT 27 375.13 14 10,734 15 56
5 %0 AT 9 589.39 18 4,748 26 16
=R ET 15 489.66 26 2,936 30 5
BHE# 17 469.11 20 4,351 25 18
p=4:3:10) 19 460.73 17 4,886 22 28
o 5 A7 16 478.52 11 14,235 10 84
XHHET 6 718.13 21 4,289 24 19
=R+t 7 672.55 31 1,321 27 13
2 HmT 14 526.20 15 9,411 7 151
= 5E 321.53 598,203 4,220
ERX SH3E1R1H SH3EI12B1H SF2E1081H
B FEREXRESIRSE BEBEALE EZRE
R EBE REFEEZEZ  |RBAGHE
= 65m LA E A /158K BAAN-SEADRTF
A A0 X100 EE" 4
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